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FIRST YEAR HIGHER SECONDARY EXAMINATION, MARCH — 2025* ‘

Part — 11 / Time : 2 Haurs
MATHEMATICS (SCIENCE) ~ Cool-offtime : 15 Minutes

Maximum : 6;0 Scores

/

General Instructions to Candidates :

‘Electronic devices except non-programmable calculatars are not allowed in the

igjrdmnolsiBones saimymideguand :

8

There is a *Cool-off time” of 15 minutes in addition to the wriling time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering,

Read the instructions carefully. .
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Examination Hall.

alddlny quawomilod aoan 15 dimlg @08 aond eas.” pmecaialaans,

‘il Qnl BHS’ GaIIBIEMUE AIBlAIDAN|SIM] DEMEAIR ARALYLKTIa
612N Dl Ba)dh.

AR ageenomEiiT @ymi' ea 130 yEnud @3 LIaNdg]e IENsea.,
midegueemod ape)aimie warLIAlR MoodETe.

SEMSE Egeile, ajlgmsmua, a0, apolal DENDCAln |3 maam
perecwdloame.

a21088m6d aeimegomilene mefalgrd

@RLUBYD)ER TUOLIOTT VAN AN H0ISKOGEMMo.

CAINODBAB  Ba1gImIBIED  domdanergod  avleowea 1)
ED2ISBSATIS Prldh@sMAlle nidldadnNOEImE Salcaaloaiomd aglpy, .

FY-427

I P.T.O.



Answer any & quesllonsalmﬁ 1'to l& Eal:h carrices 3 scorey. (6x3= 18)

@ IFA={1,2, 3},;,“1]3* {1, 4}, then thenumbcrofsubscls ofAxBis (1
,-" { (@) 52 (b) 62
' ( © 25 (d 28
2 2 d 5
(i} If[3 +1,y— 3 =l-% 3 , Lhen find x and y. @
P ' |
i
2. (i) cos(x+y)+tcoos(x—y)= : )
(i) Prove that cos [3%+x] + cos (%ﬁT x] =—/2 cosx, 2)
XX x '
i i Z+Z <10+ 2, 2
3. (i) Solvethe inequality x + = + 5 < 10+ s , )
(i) Mark the solution in a number line. ' m
4 (i) nC.r: -. (l)
2 n! ! n!
(a) = (b e
;! n(n—1})
. fl(n-r)! ) f

(i) Inhow many ways a committee consisting of 3 men and 2 women, can be chosen
from 7 men and 5 women ?

(2}
5.0 () Sumofall coefficients in the Binomial expansion of (1 + x)?is . ; (4}
: _ : -
(i) Using Binomial theorem expaqd'[?«a-i) ! @
T

6. Consider thelinc L, : 3x—dy+ 12 = 0 and a point A(2, -3).
(i) Find the equation of the line pussing through A and parallel Lo the given line L. @
(ii) Find the distance from the arigin to the given line L, (0

[

Find the coordmates of focus, equation of directrix and length of latus rectum of the
parabola x* = 12y,
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8. x=a o
(iiy 1If xl’_Tz il ; =32, then find the value ofp, @
Answer any 6 questions from 9 (o 16, Each carries 4 scores. (6 x 4=24)
8. () AnA'= I
L) WU={1,%3 45, Q} A=1{2,3,4}and B = {2, 3, 4 6}, then verify that
{AnB)=A"UB" )
I
10. (i) Draw the graph of the function, f: R — {0} — R defined by Rx) = LS (2
. x
(i) Find the domain and range of f(x) = v9—x2. {2)
1l. (i) Express(1—{)finx+ iy form. @
(i) Find the coordinates that represent the complex niimber 11;—' in the argand plane. (2)
i
12. (i) If"P, =840 and °C, = 35, then find the value of r. @
(i) Find the number of permutations of the letters of the word ATTITTUDE. 2)
13.  The vertices of APQR are P(J, 0), Q(5, 4) and R(-, 4).
“ () Find the equation of the line representing the side PQ. @
(i)  Find the equation of the line through R and pemendicular to the side PQ. @
14 A.n ellipse has its foci on (4, 0) and vertices at (5, 0)
(i) Find the length of the minor axis, )
(i) Find the length of the latus rectum and eccentricity of the ellipse, @
(iii) Also wrile the equation of the ellipse. 1)
15. (i) Give anexample of any one point which lieiin second octant. (1)
(iiy Show that the points A{D, 7, 10), B(-, &, 6} and C(-4, 9, 6) are lhe Vertices of a
right angled triangle. (3)
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16, A bag contains 8 red and 5 white balls. Three balls are drawn al random. Find the
probability that

(i}  All the three balls are white (1}
(i) Al the three balls ore red )]
(iii) One ball is red and two balls are white . ; 2)
Answer any 3 questiyns from 17 to 20, Each carries 6 scyres. (3x6=18)
1-tan®15°
7. () ——— = : (1)
i 1+tan?15° - ; .
l e B
a) — b —
( ) (&) 2
© 2 @ V3
(ii) Prove that —Shlzﬁm—:- =2sinx, (2)
cos® x—sin’s
(i) Iftan= % and tan ¢ = % then show that 8+ § = ; )
18. (i) Whichterm ofthe G.P. 2,8,32,.....1532768 7 (2)
(i1} The sum of first three terms of a G.P. is 14 und sum of next three terms is 112,
Find the common ratio, first term and the sum Lo first n terms of the G.P. (4)
19. () Using first principle find the derivative of fix) = 1. o)
X
r} g d{x?+1
(i) Find — g
i dx[xz —l] )
20, (i ' Find the mean devigtion about mean of the fallowing data :
4,7,89,10,12, 13, 17. Mg o))
(i)  Find the variance of the following frequency data @
\ ’_Class 4-8 B=12 [ 12-16 | 16-20
Fregquency 3 . 6 4 7
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